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Q1. Choose the correct answer. 1X10=10 L g ne Josli® e Je.1 /,?J, v
1. The numerical ratio of displacement to distance is: :c«?Juk’" L5mui’£lb,|.5/~‘ﬁuﬁ A
e Onf e L (D) < 3n§2eti24 (C) < dons L2 (B) e dnf e fian (A)
Equal to or less than one Always greater than one Always equal to one Always less than one
2. If a body does not change its position with respect to some fixed point, :JLM:)@JJ!?L,Q;,J?L};!c;wérl:w{!()'&//ﬁ 2
then it will be in the state of:
Variable motion ¢+ 2> (D) Uniform motion ¢ »*ULE (C) Motion 7+ (B) Rest =2 (A)
3. Aballis dropped from the top of the tower, the distance covered by it in :(,q,l,auw/&{muﬁ}tf.,{u 45’_:_%“ /yf:,/"/,vo/,cf,{i 3
the first second is: ’
100 m (D) 50m (C) 10m (B) 5m (A)
4. Abody accelerates from rest to a velocity of 144 km h™ in 20 seconds. kah'1 144@)’;?202,,4&/J]jb£ﬁk5c,;)uu/:,{/ﬁ_{! 4
Then the distance covered by it is: :?n,l#ﬁu/?;(d!.;at“bé;/d”u;
1440 m (D) 1400 m (C) 400 m (B) 100 m (A)

5. Abody is moving with constant acceleration starting from rest. it covers LS 2kt dns_ct /s Fiet. }/z’w:gfi}z{! U e e, M/()' £ .5

a distance S in 4 seconds. How much time does it take to cover one- ‘-’KL:«"J:%JM’/&,W&LE;ZUQ Kﬁsédlftc.t‘/é;
fourth of this distance? s ;

16's (D) 4s (C) 2s (B) 1s (A)

6. The displacement time graphs of two objects A and B arte shown in the ¢¢¢59/p<¢7£éﬂw uﬁdﬁ&vdif;ﬁﬁ-,lﬂGLBmA(w» 6
figure. Point out the true statement from the following: (image) - /d‘ :u%ub. s

l‘.g;u:‘;c«l.)b”&f.}!/'ﬁuﬁdﬁu’l (D) L@/,’/,LG”U:JBJ’!J;JA (C) LL[LL?U}JBUL/U}JA (B) ‘avgiaubﬂﬁd/BfU;d/A (A)

The graph gives no informationin  The velocity of Ais equal to that of The velocity of Ais lessthanB  The velocity of A is greater than B

this regard B

7. The area under the speed-time graph is numerically equal to: ;Ltn/.lz/"/,bd,ﬁ,}'/gégbj;//&,-g T

Distance covered £ 6./ 2 (D) Acceleration £ 2441 (C)  Uniform velocity £ & ssUL£ (B) Velocity £ ¢ 1s (A)

8. Gradient of the speed-time graph is equal to: :¢.L”n/,1/,..:::~’,"g/&5l/;3;-,§{ 8

Distance covered £ 6./ 2 (D) Acceleration £ o (C) Velocity £ (5"vs (B) Speed £ 4+ (A)

9. Gradient of the distance-time graph is equal to the: ;gtnzy/.:;:/,‘&fg&,-,us 9

Acceleration £ M) (D) Distance covered £ Lotss./ £ (C) Velocity £ 115 (B) Speed Z 4= (A)

10. A car accelerates uniformly from 80.5 km h™' att=0to 113kmh™att  (§yskmh! 1134t=93jl,£u2}{,upgéu}’/g,kmh-1 80.54t=0.6£1 .10
=9 s. Which graph best describes the motion of the car? ?gt/ﬁW4/ﬁﬂchiJ/KJU;VC)/-LL&?@;.f

Image null (D) Image null (C) Image null (B) Image null (A)
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Q2. Write short answers of the following questions.

| . Define scalar and vector quantities.

Il . Give 5 examples each for scalar and vector quantities.
Il . State-head-to-tail rule for addition of vectors.

IV . What are distance-time graph and speed-time graph?

V . Falling objects near the Earth have the same constant acceleration.
Does this imply that a heavier object will fall faster than a lighter
object?

VI . The vector quantities are sometimes written in scalar notation (not

bold face). How is the direction indicated?

VIl . Abody is moving with uniform speed. Wil its velocity be uniform?
Give reason.

VIII . Is it possible for a body to have acceleration? When moving with: (i)
Constant velocity (i) Constant speed.

IX . What is instantaneous speed?

X . What is resultant vector?

Q3. Write detailed answers of the following questions.
1. How a vector ca n be represented graphically? Explain.
2. Amotorcycle initially travelling at 18 km h ~ 7 accelerates at

constant rate of 2 ;g 2. How far will the motorcycle go in 10
seconds?
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